

681.3.06.543

...

,

,

,

,

,

:

,

,

.

$$w_k(i,j) = \frac{h}{R_i} \cos(\theta) \quad (1)$$

( ) [1-3]  $h: \theta = \arccos[h / R_i]; w_k(i,j) =$

[4]

$$w_k(i,j)$$

$$x(i,j)$$

$$x(i,j)$$

$$w(i,j) \quad (1)$$

$$i, j,$$

$$i \quad (1)$$

( )

$$y_k(j) = \sum_{j=-m}^m w_k(j) x(j+j_1) + w_k(j), j = \overline{1, N}, k = \overline{1, L}, \quad (2)$$

$$i, j - y(i,j)$$

[5].

$$(2)$$

$k=1$

$x(i,j)$ :

$$y(i,j) = \sum_{j=-m}^m (i,j) x(i,j+j_1) + w(i,j), i = \overline{1, M}, j = \overline{1, N}, \quad (3)$$

$i, j - o$

$y_k(i,j)$

$$(2) \quad i \quad (3)$$

$k -$

[1]:

$$y_k(i,j) = \sum_{j=-m}^m w_k(i,j) x(i,j+j_1) + w_k(i,j), \quad (1)$$

$$y(j) = \sum_{j=-m}^m (j_1) x(j+j_1) + w(j), j = \overline{1, N}, \quad (4)$$

$$i - (i = \overline{1, M})$$

$$y(i,j), i = \overline{1, M}, j = \overline{1, N},$$

$$\begin{aligned}
 & x(i,j) : (w(j)=0) \\
 & 1) \quad l=j_2-j_1, \quad (1 \leq n, n = 2m+1), \\
 & \quad y(j) \\
 & \quad \{j_1, \dots, j_2\}; \\
 & 2) \quad l > n, \quad y(j) \quad l-n, \quad \{j_1, \dots, j_2\} \cdot y(j) \\
 & x_s(j) = A_s \hat{I} \{j_1(s), \dots, j_2(s)\} \cdot j_2^{3j_1}, \\
 & x_s(j) = 0, \hat{I} \{j_1(s), \dots, j_2(s)\}, \\
 & A_s - \quad s - o \quad y(j) \\
 & \quad (s - o) \\
 & \quad ; \quad y(j), j = \overline{1, N} \\
 & j_1(s), j_2(s) - \quad s - \quad w(j), \\
 & \quad x_s(j) \quad j_1(s), j_2(s), A_s, s = \overline{1, r}. \\
 & x_s(j) \\
 & : \quad ( \\
 & \quad x(j) = \sum_{s=1}^r x_s(j), j = \overline{1, N}, \\
 & \quad r - \quad ( \\
 & \quad ). \\
 & \quad y(j), j = \overline{1, N}, \\
 & ( \quad ) \quad (4) \\
 & : \\
 & y(j) = \sum_{j_1=-m}^m \sum_{s=1}^r (j_1) x_s(j+j_1) + w(j) = \sum_{s=1}^r y_s(j) + w(j), j = \overline{1, N}, \quad (5) \\
 & \quad 3 \times (2l+1) - \quad H \\
 & y_s(j) = \sum_{j_1=-m}^m (j_1) x(j+j_1) - s - \quad y(j), \\
 & \quad s - \quad w(j). \\
 & \quad j_1(s) \quad 2. \quad i - \quad (i = \overline{1, M}) \\
 & \quad y(i, j), i = \overline{1, M}, j = \overline{1, N}, \\
 & : \\
 & 2.1. \quad y(j), j = 1, 2, \dots, N \\
 & ( \quad i \quad ) \\
 & \quad a_i(j) = \sum_{j_1=-1}^1 h(i, j) y(j+j_1), i = 0, 1, 2 \\
 & \quad a_0(j) - \quad y(j); \\
 & \quad a_0(j), a_1(j) - \quad (1 - 2 - \\
 & \quad ) j - \\
 & 2.2. \quad a_2(j) > 0, \\
 & \quad y(j) : \hat{x}(j) = a_0(j). \\
 & 2.3. \quad j \\
 & \quad (a_2(j) < 0) \\
 & j_s \quad w(j) = 0, j = \overline{1, N}. \\
 & (5)
 \end{aligned}$$

$$\begin{aligned}
 & j_1=j, \quad a_0(j), \quad e(\hat{y},y), \\
 & a_0(j), \quad a_2(j)(a_2(j) > 0), \quad d(\hat{y},y): \\
 & 2.4. \quad j_2=j, \quad \{j_1, \dots, j_2\}, \quad d(\hat{y},y) = \sum_{i=1}^M \sum_{j=1}^N |\hat{y}(i,j) - y(i,j)|. \\
 & \quad j_0, \quad a_1(j_0), \quad 4.4. \quad , j, \\
 & \quad j_0, \quad , \quad d(\hat{y},y) = j( , j), \\
 & \quad : a_{\max} = a_0(j_0), \quad n=2m+1, \quad (j), j = \overline{-m, m}
 \end{aligned}$$

$$\begin{aligned}
 & ( a_0(j) , ) \quad a_0(j) \quad 4.5. \quad j: j=0. \\
 & \quad j_1, j_2: a_{\max} = \max \{a_0(j_1), a_0(j_2)\} \\
 & \quad : j_1 := j_1 - j, \quad a_0(j_1) > a_0(j_2), \quad \bar{x} \\
 & \quad j_2 := j_2 + j, \quad a_0(j_1) < a_0(j_2), \quad j = (j_2 - j_1)/2, \quad \bar{y} \\
 & 2.5. \quad , \quad \bar{x} \quad \bar{y}
 \end{aligned}$$

$$\begin{aligned}
 & \hat{x}(j) = a_{\max, j = \overline{j_1, j_2}}, \\
 & \quad j_1, j_2 \\
 & \quad j. \\
 & \quad \hat{r}, \\
 & 3. \quad \hat{x}(i,j), i = \overline{1, M}, j = \overline{1, N}, \quad j_0: \bar{x} = x(j_0), j \hat{I} \{1, \dots, l\}, \\
 & \quad , \quad ; 1 - , \\
 & \quad - \quad \bar{w} \approx 0,
 \end{aligned}$$

$$\begin{aligned}
 & 4. \quad 0: \quad \bar{x} = \bar{y} \Rightarrow \bar{y} = 1 / \sum_{j_1=-m}^m (j_1).
 \end{aligned}$$

$$\begin{aligned}
 & j \\
 & : \\
 & 4.1. \quad ( y(i,j), i = \overline{1, M}, j = \overline{1, N}, \\
 & \quad , j
 \end{aligned}$$

$$\begin{aligned}
 & \hat{x}(i,j), i = \overline{1, M}, j = \overline{1, N}. \\
 & 4.2. \quad \hat{x}(i,j), i = \overline{1, M}, j = \overline{1, N} \\
 & \quad ( )
 \end{aligned}$$

$$\begin{aligned}
 & \hat{y}(i,j) = \sum_{j_1=-m}^m a(i, j_1) \hat{x}(i, j + j_1), i = \overline{1, M}, j = \overline{1, N}. \\
 & 4.3. \quad \mu(\hat{y}, y) \\
 & \hat{y}(i,j) \quad y(i,j), \quad i = \overline{1, M}, j = \overline{1, N},
 \end{aligned}$$

- 1. ... / ... ;
- 2. ... - 368 ... « ... », 2005.
- 3. ... ( , ) ... , 1970. - 386 .
- 4. ... , 1983. - 218 .
- 5. ... , 1981. - 416
- 6. ... / ... , 2013. - 230 .

02.05.2014

1. ... : ... ,

**PROCEDURES FOR PAYMENT INFORMATION LOSS ON OBJECTS OF SURVEILLANCE RADAR SYSTEMS  
VARIABLE SPATIAL CONFIGURATION**

V. Druzhinin

*This article examines one of the areas of compensation information loss about the objects in radar surveillance systems with variable spatial configuration, due to the inclusion of information about the shape of the amplitude of the signal reflected from the object. It is considered that the amplitude of the reflected signal from objects much greater than the noise level and the amplitude of the reflection from the background surface.*

**Keywords:** radar system with variable spatial configuration, monitoring objects.